1.

126 18 9] HAFu4E Potelm guick. [ ] ote] gL 48

oA,

2) 12 18
3) 6 9
2 3

— 12 9F18 O] ATt 2x3x3x2=[ |

> S
=%



e Ale B, 129} 300] HATH4E Tolel ¢

Qtofl et 5 WP oA L,

12=2x2x%3
30=2%x3x%X5
— 12 9430 O] HAFHE  2x2x5x3=] |

D R
=%



T 27k o] AFORRet AL TGS 242 A2 ToA L.

7F=2x3x3x7 W=3x5x7
(A ] Aagus )




Zol et
5 oA L. (S, AT

OE _h-l
bu ol

by

A2.)

Utk o] £ 4]
ol

A=2x2x3x5x%x5
B=2x3x5x5x%x7
Aqgers [ Aagus [




N

T % 7k o] AForet A TGS AR 15 L.

7F=3x3x5 U4=2x%x3x%x5
Aoz [ ] Aagug [ ]




6. THeS B, 549} 639 HATUSE FoHA L.

5 =2%x3%x3%x3
63=3%x3x%x7




2 7oA.

N

12=2x%x2x%x3
18=2x%x3%x3




T2

S

3} o] Lkt gy et o]

e

A BESET

8.

2X2x3xHx5H B=2x3x3xXx5X7

A:




9.

A=2X2X3Xx7 B=2x3X7X7

@® 2x3

@ 2x3x7

® 2x3xTx2x7
@ 2x3xTx2x3x7

® 2X2X2Xx3X3XTXTXT



10. 249209 HAFMSE F& olgste] Fatw gk [ ]

otoll EoiZ dare 55| g oA L.

24 =4x6=2x2x| |x[ ]

20:4x5:2x2x[]
249} 20 9] ool

ax2x| x| Ix[ ]=[]

D L
3%



